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1| 5] 1 % B B |REEBICESEREER 60%HE 489 10,034 10034
o 52 A ¥ B |BEEDRYBEEN 459 30000] 40034
3| 5 [10 A ¥ B |BEEDED 20000] 60034
5(19 BF5EEZ AN (58~68%D) 480,000 419,966

4] 5 (23 IhERIAERE [CMSRIBR 4 B9 16,500 403,466
5[ 5 |31 EHBAR |FER G 589 4400] 399,066
6] 5 |31 B B B |EEEEECHOSETEFN 60%stE 581D 10,045 389,021
1l 6 |10 A ¥ B |BEEDED 20000] 369,021
of 6 |13 A K B |BEcpRpEaE 655 30000( 339,021
9] 6 |23 ILZNRIARE (CMSFIBR 5879 16,500 322,521
10] 6 (30 EREBAE [FEA (Giit =k 4,400 318,121
111 6 |30 £ B B |EEEERCHOSETEFEN 60%stE 68D 11,757 306,364
7 |10 BBEHESAN (TB~989) 720,000 1,026,364
12| 7 |10 A ¥ B |Erssavme 20,000 1,006,364
13] 7 |11 A ¥ B |EEEamoEans 750 30000] 976364
14] 7 |24 LhERILRE [CMSRIBR 6 B7n 16,500 959,864
15] 7 |31 EREAE [FEA (Giit 785D 4,400 955,464
16] 7 |31 2 ¥ B |EEEEECHOSETEFN 60%stE 7TBD 10,075 945,389
17| 8 |10 A # B |BmEDED 20000] 925389
18] 8 |11 A ¥ B |EEeRoEan 85n 30000 895389




Eo Sk (EO5FRER)

SHOEE B35 e8I EREIRS B2 C50 B4 0
o E1EE — ﬂméﬁg = ~ = i 5

19| 8 |23 RIBAEE [CMSHEE 789 16,500| 878,889
20| 8 |31 SREAL |#BK G5 S8R 4,400] 874,489
21| 8 |31 = ¥ B |BUSSBICHSESEER 60%iHE 85D 11,723 862,766
22| 9|5 2 B B|EBCESIIV—K 2,100] 860,666
23] 9 [10 At B |BEsEeEe 20,000 840,666
24] 9 |13 SRR | D —f 70| 840,596
25| 9 14 At B |BBSEROBSKE 989 30,000] 810,596
26] 9 |19 T B B(|NE IV 165| 810,431
21| 9 |25 GHREES [CMSHES 889 16,500 793,931
28] 9 |28 A M B |BUSET@R 20,000 773,931
20| 9 |29 At B |BsEe@e 20,000 753,931
30| 9 [30 SHEAL |FBK G5 98D 4,400 749531
31]10] 2 = ¥ B |BBSHICHESESEER 60%HE 988 10,620 738,911
10{10 BISSHESAN (108~1289) 720,000 1,458,911
32]10[10 A M B |BUSET@R 20,000] 1,438,911
33]10/13 At B |[BSSERBEBSSN 1089 30,000] 1,408,911
34| 10/23 LRGSR [CVMSHEE 98D 16,500] 1,392,411
35 10|31 SHEAL R G5 1089 4,400| 1,388,011
36] 10|31 = ¥ B |BHSHCHESESEER 60%HE 1085 10,590] 1,377,421
37111[10 At B |BsEeme 20,000] 1,357,421
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38] 1113 A ¥ B |RSEOR0BSEN 118 30,000] 1,327,421
39| 11|24 ERAEE [CMSHER 1085 16,500] 1,310,921
40]11(30 SRBAL |FER G5 1189 4,400| 1,306,521
41]11(30 5 ¥ B |ISESRCHSESSEER 60%HE 118D 10,572 1,295,949
#)12] 7 A # B |REEORYBSEN 128 30,000] 1,265,949
43]12[10 A M B |BUSETR 20,000] 1,245,949
44]12|25 RS [CMSHER 1189 16,500 1,229,449
45]12|29 GRARE |REUK— B, RERS 1,867,800 -638,351
46] 12|31 SRBAE |FER G5 1289 4,400 642751
47 1| 4 T ¥ B |ISSRCHSESSEER 60%HE 1285 10,875| —653,626
1110 BISEEESAN (1 5~385) 720,000 66,374

48] 1 |10 A # B8 |BEEewRe 20,000 46,374
49] 1 |15 A M B |BEEERIBSEN 18D 30,000 16,374
50| 1 |23 GRS |CMSHER 1289 16,500 ~126
51] 1|31 SRBAE |FEA G 18D 4,400 ~4526
52| 1|31 T ¥ B |ISERCHSESSEER 60%iHE 189 11,079]  —15,605
53] 2 [10 A M B |BusEEwm 20,000]  -35,605
54] 2 |13 A B |BEEERIBSEN 28 30,000]  -65,605
55| 2 |26 ERGEE |CMSHEE 189 16,500  —82,105
56] 2 |29 SRBAE |FEA G 28D 4400 86,505
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571 2 |29 E B B |BEEEINCHSEFTEFEN 60%5tE 287D 10,683 -97,188
58| 3|10 A 1 & |[BF5SEMED 20,000 -117,188
59| 3|18 A & (B EawmEEERIIl 38D 30,000 -147,188
60] 3 [25 ILRILBE (CMSRIER 287D 16,500 -163,688




